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All Candidates' performance across questions

All Candidates performance across questions
1 29 4.0 1.7 6 66.1 100.0
2A 29 5.0 1.1 7 70.9 100.0
2B 29 3.4 11 5 67.6 100.0
3A 29 2.8 1.9 6 47.1 100.0
3B 28 2.3 1.8 6 37.5 96.5
4A 29 3.7 1.0 5 73.1 100.0
4B 28 2.6 1.3 5 52.1 96.5
5 29 5.1 2.1 10 50.7 100.0
6A 29 2.0 1.4 5 40.0 100.0
6B 29 3.2 1.2 5 64.1 100.0
7 29 11.7 3.3 20 58.6 100.0
8 29 7.8 4.5 20 38.8 100.0
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

Awkward expression but sufficiently clear for a mark.



Sticky Note

Correct.



Sticky Note

A nicely expressed answer. 



Sticky Note

The word 'marioneta' is not understood - sometimes a bit of work on phonics can be useful with A level students - dealing with dictation and transcription are helpful skills with listening. 























Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

This is not quite precise enough for a mark.























Sticky Note

Correct first idea but not followed through.



Sticky Note

Correct 



Sticky Note

Correct but again too much information and a lack of concision in the response.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

No second idea given. We miss the idea of 'lies'.























Sticky Note

Correct



Sticky Note

Correct



Sticky Note

Correct and clear link made to the idea that immigrants pay into the system



Sticky Note

This is a long way to express a simple idea and is a non-standard response. Comprehension is nevertheless demonstrated. 
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Sticky Note

The ticks indicate where the marks are given. See Example 1 for further comments.
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Sticky Note

The ticks indicate where marks were given. See Example 1 for general comments.
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Sticky Note

This is a little vague but allowable for a mark on the basis of benefit of doubt.



Sticky Note



Sticky Note

Correct but again writing too much. This is risky because it may lead to ambiguity.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Misses the idea of working together again.




















Question 3 (A)

Question 3 (A) is a summary question. You are not required to write in full sentences. You
may use words from the listening extract, but you must not transcribe whole sections.

Escucha la primera parte de la entrevista con las dos actrices y escribe un resumen en
espanol sobre [9]

o Las dificultades por las que pasa el protagonista en la pelicula. Escribe tres detalles. [3]

Acceptable Reject / Notes Marks

una crisis artistica / straight lift / unclear Spanish | 1
dificultades artisticas

una crisis / dificultades en su 1
vida privada
una crisis / dificultades de 1
salud mental
¢ Diferencias entre los papeles de Cruz y Serrano. Escribe dos detalles. 2]
Acceptable Reject / Notes Marks

Cruz representa a la madre | straight lift / unclear Spanish 1
de un chico joven

Serrano representa a la 1
madre ya mayor

e Deseos distintos de Aimodévar y Serrano antes de rodar la pelicula. Escribe dos
detalles. [2]

Acceptable Reject / Notes Marks

Almoddvar no deseaba que straight lift / unclear Spanish | 1
ella fuera igual que su
madre.

Serrano deseaba volver a straight lift / unclear Spanish | 1
trabajar con él.

e Caracteristicas constantes en Almoddvar segun Serrano. Escribe dos detalles. [2]
Acceptable Reject / Notes Marks
Tiene ganas de revelar sus | straight lift / unclear Spanish 1
sentimientos
Y
No le importan nada los straight lift / unclear Spanish 1
criticos.

© WJEC CBAC Ltd. 8





Summary Question requiring a response in Spanish

¢ If a candidate uses English words in the response, no mark will be awarded.

e No marks will be awarded for copying complete sections lifted from the extract.

e Answers in Spanish which have a Spanish spelling which is incorrect, but nevertheless
understandable, will generally be accepted unless otherwise stated.

¢ Minor errors and inaccuracies in lexis and structure which do not affect meaning will be
tolerated.

¢ If a candidate writes a different answer to that given on the mark scheme and that
answer conveys the same meaning, the mark should be awarded.

© WJEC CBAC Ltd. 9










3A.

Question 3A is a summary question. You are not required to write in full sentences. You
may use words from the listening extract, but you must not transcribe whole sections.

Escucha la primera parte de la entrevista con las actrices Penélope Cruz y Julieta Serrano
sobre una pelicula de Pedro Almodovar y escribe un resumen en espaiol sobre: [9]

Las dificultades por las que pasa el protagonista en la pelicula. Escribe tres detalles. [3]

detalles. [2]

06
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Sticky Note

Correct, clear and precise.



Sticky Note

Here the answer is correct but the candidate gives more information that is needed for a mark. The idea of 1 mark = 1 detail is worth emphasising. 



Sticky Note

Correct but ideally should be more concisely expressed. Candidates are marked for comprehension but ideally should avoid large untargeted lifts from the recording. See Mark Scheme for the key ideas in answer to this question.



Sticky Note

Correct but not concise.



Sticky Note

Correct but not concise.



Sticky Note

The ticks and crosses indicate the marks given. Some have comments embedded and these will appear by hovering your cursor over them. 
The tick-box and objective tasks are not included here because their marking is self explanatory.




















Question 2 (B)

Escucha otra vez el podcast sobre la primera campana contra la homofobia, lanzada por la
organizacion LGBT “México Incluyente”.

Contesta las siguientes preguntas en espanol.

You may use words from the listening extract, but you must not transcribe whole sections.[5]

(a) ¢,Cuales son los objetivos de “México Incluyente”? Escribe dos detalles. 2]

¢ luchar contra la discriminaciéon (a las personas gay)
¢ poner fin a ideas antiguas (sobre los homosexuales)

(b) ¢,Coémo contribuye la comunidad Iésbica-gay a la economia de México? Escribe tres
detalles. [3]

o El poder adquisitivo de / el poder de compra de / el dinero que tienen las
personas LGBT (1)

¢ Muchos turistas extranjeros pertenecen a esta comunidad (1)

¢ Lacomunidad LGBT genera muchas ganancias para compainias
mexicanas. (1)

© WJEC CBAC Ltd. 6






2B. Escucha otra vez el podcast sobre la primera campafia contra la homofobia, lanzada por la
organizacion LGBT “México Incluyente”.

Contesta las siguientes preguntas en espafol.

Puedes utilizar palabras tomadas del texto pero no debes transcribir frases palabra por
palabra. No se requieren frases completas; si procede, puedes utilizar palabras sueltas.  [5]

(@) ¢Cuales son los objetivos de “México Incluyente”? Escribe dos detalles. 2]

(b) ¢Como contribuye la comunidad lésbica-gay a la economia de México? Escribe tres
detalles. [3]

Examiner
only

A810U201
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Question 3 (B)

Escucha la segunda parte de la entrevista con las dos actrices y luego responde a las
preguntas siguientes en espanol.

Puedes utilizar palabras tomadas del texto pero no debes copiar frases palabra por
palabra.

No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [4]

(a) ¢, Como se prepara Cruz para interpretar un papel en una pelicula de Aimodévar? [1]

Se deja guiarse por él.

(b) ¢,Coémo la prepard su infancia para este papel? [1]
De nifia siempre jugaba a ser madre.

(c) ¢, Como se comparan las protagonistas de Volvery de Dolor y Gloria? [1]
La madre de Volver es menos severa /

La madre de Dolor y Gloria es mas severa

(d) ¢, Qué aprendié Almoddvar de su madre? [1]

Lo fuertes que son las mujeres.

© WJEC CBAC Ltd. 1 0






Examiner
[
3B. Escucha la segunda parte de la entrevista con las actrices Penélope Cruz y Julieta Serrano o
sobre una pelicula de Pedro Almodovar y luego responde a las preguntas siguientes en
espanol.
Puedes utilizar palabras tomadas del texto pero no debes copiar frases palabra por
palabra.
No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [4]
(@) ¢Cbmo se prepara Cruz para interpretar un papel en una pelicula de Almoddévar? [1]
(b) ¢Cbmo la prepard su infancia para este papel? 1]
() ¢Cbmo se comparan las protagonistas de Volvery de Dolor y Gloria? 1]
(d) ¢Que aprendié Almodovar de su madre? 1] g
4
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Section B — Reading (30 marks)

Answer all questions. You are advised to spend 45 minutes on this section.

Question 4 (A)

Lee El historiador Francisco Moreno Gémez presenta su ultimo libro y luego encuentra en el
texto las palabras con el significado mas cercano a las palabras de la columna de la

izquierda.

Ejemplo: delitos de matar a otras personas

(a) comprobacion de la verdad de algo

(b) gran tamano

(c) expresion de una opinion sobre algo

(d) acto de acabar con la vida de unas personas
(e) miembro elegido del Ayuntamiento

© WJEC CBAC Ltd. 1 1

[S]

crimenes

testimonio
magnitud
reflexion
exterminar

concejal






Examiner
only

SECTION B — READING (30 marks)

Answer all questions. You are advised to spend 45 minutes on this section.

4A. Lee El historiador Francisco Moreno Gémez presenta su ultimo libro y luego encuentra en el
texto las palabras con el significado mas cercano a las palabras de la columna de la izquierda.

[5]
Ejemplo: delitos de matar a otras personas crimenes
(a) comprobacion de la verdad de algo e [1]
(b) gran tamano 1]
(c) expresion de una opinidn sobre algo e [1]
(d) acto de acabar con la vida de unas PersonNas ... 1]
(e) miembro elegido del Ayuntamiento [1]

08
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Section B — Reading (30 marks)

Answer all questions. You are advised to spend 45 minutes on this section.

Question 4 (B)

Lee el texto El historiador Francisco Gémez Moreno presenta su ultimo libro y luego
responde a las preguntas siguientes en espanol.

Puedes utilizar palabras tomadas del texto pero no debes copiar frases palabra por
palabra. No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [5]
(a) ¢, Coémo descubrié la madre del testigo que su marido habia desaparecido? Escribe

dos detalles. [2]
Porque no estuvo en la carcel (1) cuando le llevé la comida (1)

(b) ¢, Qué repercusiones hubo en la familia del fusilado? Escribe dos detalles. 2]
Perdieron sus derechos

y no pudieron llorar la muerte de su padre / estar de luto / duelo por su padre

(c) ¢Por qué quiere el testigo exhumar a su padre? [1]

Por una cuestiéon de honor / porque quiere honrar su memoria

© WJEC CBAC Ltd. 1 1






4B. Lee el texto El historiador Francisco Moreno Goémez presenta su ultimo libro y luego responde
a las preguntas siguientes en espaiiol.

Puedes utilizar palabras tomadas del texto pero no debes copiar frases palabra por

palabra.
No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [5]

(@ ¢Cbémo descubrid la madre del testigo que su marido habia desaparecido? Escribe dos

detalles. [2]
(b) ¢Qué repercusiones hubo en la familia del fusilado? Escribe dos detalles. [2]
(c) ¢Por qué quiere el testigo exhumar a su padre? 1]

Examiner
only
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Question 5

Después de leer el texto Un 12,8% de los jovenes esparioles son ‘ninis’, rellena los espacios
en blanco con la palabra o frase correcta. [10]

En Espanfia la tasa de jévenes menores de 25 afios que (1) .....covvvvviniiiiienenennnn. (ni juegan
ni hacen ejercicio / ni leen ni tienen un hobby / ni estudian ni trabajan) alcanza casi el
trece por ciento. Un informe advierte que no habia trabajo para (2) ................ (un cuarto /
un tercio / un trimestre). Pero 1o (3) ..........cocoviiiiiiiiins (sorprendente / catastréfico /
positivo) es que la situacion (4) ............ccoieiiiiiinn. (futura / actual / anterior) sea
mejor que la de a principios de la segunda década del siglo XXI. Un problema grave es que
el 15% de los jovenes (5) ........cccvvvevinininnnnn. (deja de estudiar / acaba estudiando /
busca un aprendizaje) sin tener (6) .................. (dinero / cualificaciones / experiencia). El
abandono educativo (7) ..........ccccoeieieinnnnn. (varia / salta / se permite) por

() I (paises / climas / autonomias). Se pronostica que la situacion

(9) oo (no mejorara / mejorara / desaparecera) en 2020. Una solucion
podria ser que las agencias de trabajos temporarios ayuden a grupos (10) ......................
(faciles de emplear / con mucho tiempo libre / dificiles de colocar) como los ‘ninis’.

© WJEC CBAC Ltd. 1 2
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Examiner
. . ~ ~ e, only
5. Después de leer el texto El 12,8 % de los jovenes espafioles menores de 25 afios son ‘ninis’,

rellena los espacios en blanco con la palabra o frase correcta. [10]

En Espafia la tasa de jovenes menores de 25 afios que
(1) e (ni juegan ni hacen ejercicio / ni leen ni tienen
un hobby / ni estudian ni trabajan) alcanza casi el trece por ciento. Un informe advierte que

no habia trabajo para (2) (un cuarto / un tercio / un

trimestre). Pero lo (3) (sorprendente / catastréfico /

....................................................................................... (futura / actual /

positivo) es que la situacion (4)

anterior) sea mejor que la de a principios de la segunda década del siglo XXI. Un problema

grave es que el 15% de [0S JOVENES (B) ... (deja de
estudiar / acaba estudiando / busca un aprendizaje) sin tener
(B) e (dinero / cualificaciones / experiencia). El

(varia / salta / se permite)

PO (8) oo (paises / climas / autonomias). Se pronostica

que la situacion (9) (no mejorara / mejorara /

desaparecera) en 2020. Una solucién podria ser que las agencias de trabajos temporarios
ayuden a grupos (10) ... .. (faciles de emplear / con

mucho tiempo libre / dificiles de colocar) como los ‘ninis’.
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Question 6 (A)

Question 6 (A) is a summary question. You are not required to write in full sentences. You
may use words from the extract, but you must not transcribe whole sections. [6]

Haz un resumen de los aspectos siguientes de la primera parte del texto sobre la
integracion de los inmigrantes.

No es necesario usar oraciones completas. Puedes utilizar palabras tomadas del texto pero
no debes copiar frases palabra por palabra.

No se requieren frases completas; si procede, puedes utilizar palabras sueltas.

e Técnicas utilizadas por algunos partidos politicos para fomentar sus ideas. Escribe dos
detalles. [2]

Acceptable Reject / Notes Marks

Explotan Internet straight lift / unclear Spanish 1
Y
Dicen mentiras straight lift / unclear Spanish 1
@)

Dan informacion falsa

o Ejemplos de la xenofobia en Espana. Escribe dos detalles. [2]
Acceptable Reject / Notes Marks
Se utilizan fotos de africanos en straight lift / unclear Spanish 1
pateras (llegando a Espana)
Un lider politico se refirié a una straight lift / unclear Spanish 1

invasion de millones de subsaharianos
/ destaco la posibilidad de la llegada de
millones de inmigrantes africanos

e Lo que temen algunos espanoles con respecto a los inmigrantes. Escribe dos detalles.

[2]

Acceptable Reject / Notes Marks
Algunos espanoles temen: any two of: | straight lift/unclear Spanish in

que cometan delitos / and all cases 1

que quiten empleos a los trabajadores 1

nacionales / or
que quiten los beneficios a los
trabajadores nacionales

© WJEC CBAC Ltd. 1 3





Summary Question requiring a response in Spanish

¢ If a candidate uses English words in the response, no mark will be awarded.

e No marks will be awarded for copying complete sections lifted from the extract.

e Answers in Spanish which have a Spanish spelling which is incorrect, but nevertheless
understandable, will generally be accepted unless otherwise stated.

¢ Minor errors and inaccuracies in lexis and structure which do not affect meaning will be
tolerated.

¢ If a candidate writes a different answer to that given on the mark scheme and that
answer conveys the same meaning, the mark should be awarded.

© WJEC CBAC Ltd. 14
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6A.

Question 6A is a summary question. You are not required to write in full sentences. You
may use words from the extract, but you must not transcribe whole sections.

Haz un resumen de los aspectos siguientes de la primera parte del texto sobre los Aspectos
que dificultan la integracion de los inmigrantes en Espafia. No es necesario usar oraciones
completas. [6]

* Técnicas utilizadas por algunos partidos politicos para fomentar sus ideas. Escribe dos
detalles. [2]

* Ejemplos de la xenofobia en Espana. Escribe dos detalles. [2]

* Lo que temen algunos espafioles con respecto a los inmigrantes. Escribe dos detalles.

[2]

12
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Question 6 (B)

Lee la segunda parte del texto Aspectos que dificultan la integracion de los inmigrantes en
Espara y luego responde a las preguntas siguientes en espaiiol.

Puedes utilizar palabras tomadas del texto, pero no debes copiar frases palabra por
palabra.

No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [4]

(a) ¢, Qué argumento ha utilizado el Gobierno esparnol a favor de los inmigrantes?
Escribe dos detalles. [2]

Los inmigrantes produjeron el 50% del aumento econémico (1) en los 5
primeros afos del nuevo siglo (1)

(b) ¢, Qué evidencia da la Seguridad Social a favor de los inmigrantes? [1]

Las contribuciones de los inmigrantes ayudan a Espaina a pagar otros
beneficios sociales.

(c) ¢,Por qué no tienen un resultado feliz los argumentos a favor de la inmigracién?  [1]

Porque la gente sigue odiando/ OR discriminando a los inmigrantes.

Reading Comprehension Question requiring a response in Spanish

¢ If a candidate uses English words in the response, no mark will be awarded.

¢ No marks will be awarded for copying complete sections lifted from the text.

e Answers in Spanish which have a Spanish spelling which is incorrect, but nevertheless
understandable, will generally be accepted unless otherwise stated.

¢ Minor errors and inaccuracies in lexis and structure which do not affect meaning will be
tolerated.

¢ If a candidate writes a different answer to that given on the mark scheme and that
answer conveys the same meaning, the mark should be awarded.

© WJEC CBAC Ltd. 1 5
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Examiner

[
6B. Lee la segunda parte del texto Aspectos que dificultan la integracion de los inmigrantes en o

Espara y luego responde a las preguntas siguientes en espaiol.

Puedes utilizar palabras tomadas del texto pero no debes copiar frases palabra por
palabra.
No se requieren frases completas; si procede, puedes utilizar palabras sueltas. [4]

(@ ¢Qué argumento ha utilizado el Gobierno espafiol a favor de los inmigrantes?
Escribe dos detalles. [2]

(b) ¢Qué evidencia da la Seguridad Social a favor de los inmigrantes? 1]

(c) ¢Por qué no tienen un resultado feliz los argumentos a favor de la inmigracion? 1]
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Question 7

Translate the following text into English.

Section C — Translation (40 marks)

[20]

En la Espana franquista una mujer casada no tenia derecho a abrirse una cuenta corriente,
ni a trabajar, ni a viajar sin el permiso de su marido. Tampoco podia poner en marcha una
empresa, ni ser trabajadora auténoma. Como no estaba permitido el divorcio ni el
abandono de hogar, una mujer tenia que aguantarse toda su vida si sufria malos tratos o le
obligaban a llevar una vida en contra de su voluntad o sus ideas. Las mujeres espafiolas de
la época de Franco podian ser proscritas o condenadas por cometer adulterio. El hombre
podia, y de hecho era bastante comun, tener una o varias amantes, siempre que las
relaciones no fueran excesivamente escandalosas.

114 words
Spanish Correct Acceptable Reject
1 | Enla Espafia In Francoist Spain | Franco’s Spain 1
franquista
2 | una mujer casada no | a married woman | wife 1
tenia derecho did not have the had no right
right
3 | aabrirse una cuenta | to open a current bank account 1
corriente, ni a account, or to
trabajar, work,
4 | ni aviajar sin el or to travel without | the permission of 1
permiso de su marido. | her husband’s her husband / her
permission. husband allowing it
5 | Tampoco podia Nor could she Nor was she able She could not 1
either
6 | poner en marcha una | setup a business, | to start a company | to putin march | 1
empresa,
7 | ni ser trabajadora or be self- nor 1
auténoma. employed.
8 | Como no estaba As neither divorce | permitted 1
permitido el divorcio
9 | ni el abandono de nor leaving the leaving home abandoning 1
hogar, marital home was home
allowed,
10 | una mujer tenia que a woman had to accept it 1
aguantarse put up with things | live with it
11 | toda su vida si sufria | all her life if she suffered ill bad treatments | 1

malos tratos

was badly treated

treatment /
domestic violence

© WJEC CBAC Ltd.
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Spanish Correct Acceptable Reject
12 | o le obligaban a llevar | or was made to
una vida lead a life
13 | en contra de su that went against in a way she did
voluntad o sus ideas. | her will or ideas not want
14 | Las mujeres Spanish women of | epoch
espanolas de la the Franco era time
época de Franco
15 | podian ser proscritas | could become be rejected / outlaws
outcasts marginalised
16 | o condenadas por or be condemned | sentenced
cometer adulterio. for committing
adultery.
17 | El hombre podia, Men could, A man could / was
able
18 | y de hecho era and in fact it was

bastante comun,

quite common,

19

tener una o varias
amantes siempre que
las relaciones

have one or
several lovers, as
long as the
relationships

mistresses /
girlfriends / other
women

20

no fueran
excesivamente
escandalosas.

were not
excessively
scandalous.
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SECTION C — TRANSLATION (40 marks)

Answer all questions. You are advised to spend one hour on this section.

7. Translate the following text into English. [20]

En la Espafa franquista una mujer casada no tenia derecho a abrirse una cuenta corriente,
ni a trabajar, ni a viajar sin el permiso de su marido. Tampoco podia poner en marcha una
empresa, ni ser trabajadora auténoma. Como no estaba permitido el divorcio ni el abandono
de hogar, una mujer tenia que aguantarse toda su vida si sufria malos tratos o le obligaban

a llevar una vida en contra de su voluntad o sus ideas. Las mujeres espafolas de la época
de Franco podian ser proscritas o condenadas por cometer adulterio. EI hombre podia, y de
hecho era bastante comun, tener una o varias amantes, siempre que las relaciones no fueran
excesivamente escandalosas.
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Question 8

Traduce al espanol.

[20]

Over 57 million Hispanics live in the United States. Only Mexico has more Spanish
speakers. Historically, Hispanic culture placed great value on the nuclear family and
immigrants tended to have many children. It was traditional for three generations to live in
the same household or near one other, so that grandparents could play an important role in
bringing up their grandchildren. The views of Spanish Americans on same-sex marriage

have changed in recent years. However, despite changes in family structure and

organisation, the fact that they prioritise well-being above all makes Hispanics very group-
oriented with large multi-generational family gatherings still being the social norm.

Original English text

Acceptable translation

Valid alternative

Reject

1 Over 57 million
Hispanics live in the
United States.

Mas de 57 millones de
hispanicos viven en los
EE.UU.

Estados Unidos

latinoamericanos

2 Only Mexico has more

Spanish speakers.

Solo México tiene mas
hispanohablantes.

3 Historically, Hispanic
culture

Histéricamente, la
cultura hispanica

4 placed great value on

the nuclear family

valoraba mucho la
familia nuclear

dio un gran valor a

5 and immigrants tended
to have many children.

y los inmigrantes solian
tener muchos hijos.

6 It was traditional for
three generations to
live in the same
household

Fue la tradicién que tres
generaciones vivian en
la misma casa

Tradicionalmente
tres generaciones
vivian en la misma
casa

7 or near one other,

o cerca unos de otros,

cerca unas de
otras,

8 so that grandparents para que los abuelos de modo que omission of
could play an pudieran jugar un papel subjunctive after
important role importante para que

9 in bringing up their en criar a sus nietos. en educar a
grandchildren.

10 | The views of Spanish Las opiniones de los
Americans hispanoamericanos

11 | on same-sex marriage | sobre el matrimonio del

mismo género
12 | have changed in se han cambiado en los | en afos recientes recentes

recent years.

ultimos anos.

13 | However, despite

Sin embargo, a pesar de

pese a

14 | changes in family
structure and
organisation,

los cambios en la
estructura y
organizacion familiar,

English spelling
organisation

© WJEC CBAC Ltd.
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Original English text

Acceptable translation

Valid alternative

Reject

15 | the fact that they el hecho de que ponen énfasis en el
prioritise well-being priorizan el bienestar bienestar

16 | over everything else sobre todo lo demas

17 | makes Hispanics hace que los hispanicos

18 | very group-oriented, estén muy orientados hacia el colectivo

hacia el grupo,

19 | with large multi- con las reuniones fiestas familiares
generational family familiares
gatherings multigeneracionales

20 | still being the social siendo todavia la norma | todavia siendo la

norm.

social.

costumbre social.

A810U20-1 EDUQAS GCE A Level Spanish — Component 2 MS S22/CB
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8. Traduce al espaiiol. [20]

Over 57 million Hispanics live in the United States. Only Mexico has more Spanish speakers.
Historically, Hispanic culture placed great value on the nuclear family and immigrants tended
to have many children. It was traditional for three generations to live in the same household
or near one another, so that grandparents could play an important role in bringing up their
grandchildren. The views of Spanish Americans on same-sex marriage have changed in
recent years. However, despite changes in family structure and organisation, the fact that
they prioritise wellbeing above all makes Hispanics very group-oriented with large multi-
generational family gatherings still being the social norm.

END OF PAPER
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Sticky Note

Here we can accept the awkward use of pretender - the overall idea is carried by the rest of the sentence.



Sticky Note

Correct.



Sticky Note

Here we needed the idea of being guided by him.



Sticky Note

Here we lack precision - we needed to know what he learns from her, not about her. 























Sticky Note

Correct first idea.



Sticky Note

Correct but the overall answer becomes ambiguous because there are multiple ideas and the second idea is the same as the first. Ideally candidates should signal their ideas for the examiner - they can do this by writing on separate lines or by putting (1) and (2) in their answers. This way they avoid the risk of losing marks bey answering in an ambiguous way.



Sticky Note

Here the candidate misses the second idea. He was no longer there, not that he didn't get the food. This does also flag the need for teachers to do some work on how to say 'to get' in Spanish as this is an area that can generate ambiguous answers at times.



Sticky Note

Incorrect idea that is not precisely expressed. 



Sticky Note

Here the candidate loses the mark because they have given multiple ideas. It is never the examiner's job to choose. 























Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Correct. The candidate adds a note at the end but the general behaviour of this candidate is to write too much. The key ideas are 'in political speeches' and 'in images published' and it is worth candidates aiming to produce these kinds of concise answers where they can. 



Sticky Note

Here we see the issue of 'to get' appear again.



Sticky Note

Correct.























Sticky Note

Correct.



Sticky Note

Correct but again writing too much and not as concisely as they could.



Sticky Note

Incorrect idea. 



Sticky Note

Very vague answer. 























Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note

The green ticks indicate where marks were given. It is important for teachers to note that the marking scheme is indicative and not inclusive. We can therefore accept a range of valid alternatives and a positive marking approach is adopted. 








Sticky Note



Sticky Note



Sticky Note



Sticky Note




























Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note

The green ticks indicate where marks were given and the same approach as mentioned in regard to Q7 is also applied here. Verbs and adjective agreements are normally expected to be correct but other minor errors that do not hinder clarity may be accepted. 








Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note

























X X



Sticky Note

Correct



Sticky Note

Correct idea, if awkwardly expressed.



Sticky Note

Too vague.



Sticky Note

Vague response does not indicate comprehension of the key ideas.



Sticky Note

No third idea is offered. The general disorder of the way the candidate presents the information makes it additionally difficult for examiners to assess accurately. Where a candidate displays this trait in the teaching phase, it will be helpful for teachers to encourage the adoption of strategies such as the use of blank pages in the exam booklet to draft notes beforehand.




















XX X

XX



Sticky Note

Here the candidate clearly only picks up on a few odd words and is trying to connect them into some kind of sense. However, it is worth noting that except for the first one, the responses are not a logical fit with the bullet point in terms of sense.



Sticky Note



Sticky Note



Sticky Note

Here again the candidate has no comprehension of the overall sense of the recording.



Sticky Note



Sticky Note

Again the sense of the recording is lost on this candidate.



Sticky Note























Sticky Note

Awkward expression but given a mark because the meaning is just clear enough.



Sticky Note

Here we use positive marking to allow a mark, despite the plural carried over from the phrasing of the question. 



Sticky Note

Incorrect and a guess.



Sticky Note

This is incorrect as mentioned on Example 1























Sticky Note

Correct, if not concise.



Sticky Note

Correct and the additional information about the assumption formed can be disregarded.  



Sticky Note

Correct



Sticky Note

Here we can accept this for a mark, even though the idea of pride is added in. As the ideas of 'honour' and 'pride' are closely related they are considered as part of the same concept and not alternative answers.



Sticky Note

This is effectively the same idea and cannot be credited twice.




















XX

XX



Sticky Note

Correct and well expressed.



Sticky Note

Correct and generally well expressed. We can overlook minor errors of agreement if the message is correct.



Sticky Note



Sticky Note



Sticky Note

These answers are not coherent and do not indicate any comprehension at all.



Sticky Note























Sticky Note

Just about acceptable for the first mark but we are missing the idea of the connection with immigrants being responsible, so only one mark here.



Sticky Note

This is just about acceptable - there is a sense that the immigrants contributed and therefore there was more money in the system. On benefit of doubt, this mark is given.



Sticky Note

This is just a rewording of the first idea. 



Sticky Note

This answer is vague and the addition of 'feroz' at the end makes the overall meaning ambiguous, so this just missed the mark.




















S



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note

The ticks indicate where marks were given. See Example 1 for further comments. 








Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note



Sticky Note




























Sticky Note



Sticky Note

Ticks indicate where marks are given. See Example 1 for general comments. 








Sticky Note



Sticky Note




























Sticky Note

Correct but unnecessarily wordy



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

This is a vague answer and the candidate has not focused well on the text. The two key ideas are not expressed. 



Sticky Note

Incorrect.




















XX



Sticky Note



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

Ordinarily examiners will mark crossed out work if no other answers are provided. Here, however, the crossed out work is not valid as answers to the questions.



Sticky Note



Sticky Note



Sticky Note

This first idea misses the point - she plays the role of the young mother.



Sticky Note

Here the candidate has not correctly located the ideas in the recording.



Sticky Note

This misses the first key idea of him being able to express his emotions.





















